4MEZE Outline AMEE Outline T E Co

~ rn f C . ) | o
MY RZERTE e i By 20 MY RZERTE i G Gy

.
o]
o
| Vg
9 140
5 =7
7 ol
7 7 Nl
.
FIG.1 FIG.2
FIG.3
Dimension in mm Dimension in mm
Output (kW) FIG. FLANGE DIMENSION Output (kW) FLANGE DIMENSION
FE@E A AA AB AC AD BA BA' BB BC FEE“E'E BA BA' BB BC C
2P 4P 6P - NO. LE 4P 6P - , LEM N P S
0751055 = f = | gom | 1 [ 12| 40 |165]|130]200| 12 | 3.5|125|34.5| 161| 177] 152| 110 | 55 | 100| — | 46 | 46 [137] 535 | 50| 80 S|l Bes e | 16 | 60 | 215| 180] 250| 14.5| 4 |160| 40 | 200| 219| 1785|127 63.5| 140| — | 665 | 66.5| 181|72.5| 63
1.1 |0.75}0.55| - N . -
15[ 11078 — | 9os | 2 | 12| 50 | 165] 130] 200| 12 | 3.5 | 140| 40 | 180| 197| 162| 110 | 55 | 100| - |67.:5|67.5| 161 69.5 | 56| 90 4| a22] -] 112m 15 | 60 | 215| 180| 250| 14.5| 4 |190| 45 | 235|235| 191 | 127|e63.5| 140| — | 655 |65.5|186] 75 | 70
22| 15|11 —| 9oL 12 | 50 | 165|130 200| 12 | 3.5| 140 40 | 180|197 162| 110 | 55 | 125| — |60.5|60.5| 171| 745 | 56| 90 o] S P R (T Bl e ot s o D) [ T e (e esn o et DO ) B e (e )
SHAFT EXTENSION BEARING 75 == |
— e ]
I || pee—— E?Rﬁsgs&% 132M 16 | 80 | 265| 230| 300| 14.5| 4 |216| 57 | 263|273 208.5| 127 | 63.5| 178 140| 835 | 83.5|222| 84 | 89

8o0M | 10 115 10| 292 |110| 40 | M20X1.5| 19| 40| 32| 4 [ 16| 6 | 155| 215 | M6 620422 620322 EXTENSION BEARING
90s | 10 125 10| 344 |110| 40 |M20X1.5| 24 | 50 (40| 5 (19| 8 | 20 | 27 | M8 620527 620427 — OPPOSITE
goL | 10 125 10| 354 |[110| 40 | M20X1.5| 24 |50 (40| 5 | 19| 8 | 20 | 27 | M8 620522 620422 e =
Note : 1. Tolerance of shaft end diameter D: j6. 100L | 100| 12| 138 [ 12 [ 391 | 120| 50 | M25X1.5| 28 | 60 (50| 5 [ 22| 8 | 24| 31 [M10| 62062Z 620522
2. Tolerance of shaft center high H : +0, -0.5. 112M [112] 13 [150.5| 12 | 412.5|120| 50 | M25X1.5| 28 | 60 | 50 | 5 [ 22| 8 | 24 | 31 |M10| 630622 630522
, 1328 |132| 16 | 168 | 12| 456 |120| 50 | M25X1.5| 38 | 80 | 70| 5 | 28| 10| 33| 41 [M12| 630822 6306ZZ
3. Tolerance of N : j6.
) 132M [132]| 16 | 168 | 12 | 494 |120| 50 | M25X1.5| 38 [ 80 | 70| 5 [ 28| 10| 33| 41 |M12| 630822 6306ZZ
4. T-Box Assy with a cable grand body. - -
Note : 1. Tolerance of shaft end diameter D : 28 : j6, ¢ 38:k6 .

5.TEV1 only refers to the installation size ,the outline will be slightly different

(TEVI RESRRER, IELBREBEER)

2. Tolerance of shaft center high H : +0, -0.5.
3. Tolerance of N : 6. 4. T-Box Assy with a cable grand body.

5.TEV1 only refers to the installation size ,the outline will be slightly different

(TEVI R E2RER, INESBREEZER)

42 43



4MEZE Outline AMEE Outline T E co

~ rn f C . ) | o
SV R L% R B P S 2y SMERZLER BRI B35 2001

o o,
o b
7 v
15 ol iz 47
<| -1 4=
7 7
/ 7 -
FIG.4 _ ) o
Dimension in mm Dimension in mm
Output (kW) : FLANGE DIMENSION Output (kW) rrAMe FIG: FLANGE DIMENSION
SIZE Ac]| ADI|LAG
2P 4P 6P LA LE M N P 8 4P 6P NO. [LAI EE "M [INI[ P 8
:;_ 11751 =] 180m 15 1110 300! 2501 350| 185 | 5 |254| 60 | 300| 318| 234 | 166 83 210] - 57 | 57 | 256 sl = === | 2255¢ 20 | 140| 400| 350| 450| 185 | 5 |356| 75 | 431|449| 3305|215| 1075 |286| — | 985 | 985 [ 371 143
4
185 151 11 | =1 1600 15 | 110l 300l 250] 350 185 | 5 |254] 60 | 300|318] 234 | 166 83 o54] 210 o7 | 97 [300 45 | — | — | — | 225MA | 6 | 20 |110]|400|350(450| 185 | 5 |356| 75 | 431|449 3305|215| 107.5 |311|286| 110 | 110 | 396 155.5
29 | 185 — | — | 4180m 15 1110l 300l 250] 350 185 | 5 |279] 65 | 330| 354] 266 | 166 83 41| - 65 | 65 |202 -— | 45| 30| — | 225MC 20 | 140| 400| 350|450 185 | 5 |356| 75 | 431|449 3305|215| 1075 |311|286| 110 | 110 | 396 155.5
| 22| 15 | —| 4180 | 5| 15 [110l 300] 250 350| 185 | 5 |279| 65 | 330|354 266 | 166 83 279 241 | 115 | 115 | 330 55 | won | == | == | 250MA 22 |1 140| 500( 450| 550| 18.5 | 5 |406| 85 | 480|499 3725|249 1245 |349| - |1125]|112.5|425( 1745
7
30 185 -— | 55| 37| — | 250MC 22 [140|500]| 450| 550| 18.5 | 5 |406| 85 |480(499( 3725 |249| 1245 |349| — |1125|112.5(425| 174.5
37 | 30 2:3_ — | 200L 17 | 110/ 350| 300| 400| 185 | 5 |318| 70 | 378|398/ 304.5|215| 1075 |305( -- 82 | 82 |353
Ll | SHAFT EXTENSION BEARING
SHAFT EXTENSION BEARING
EB EF EG F G GA DB DRIVEEND v aal
OPPOSITE DRIVE END
EB EF EG F G DRIVEEND e eND
2255C | 149|225| 28 | 267| 18.5]| 816|199 90 | M50X1.5| 60 |140|125( 75| 42| 18| 53 | 64 | M20
160M 105 | 108|160 18 | 192]|14.5(608] 160| 60 | M32X1.5 | 42 | 110|100 5 | 36| 12 | 37 | 45 |M16| 63092Z 630722 i lanle] 22 |26l = bati kel oo Iveoct 1 25 Hriol el s 1 s2 e | 4 V=0 Iazo (s:;;::zgs) (62{;1;23;23)
160L 127 | 108[ 160( 18 | 192]|14.5(652| 160| 60 | M32X1.5 | 42 | 110|100 5 | 36| 12 | 37 | 45 |M16| 63092Z 630722
225MC | 149|225 28 | 267| 18.5[841[199] 90 | M50X1.5| 60 |140|125| 75| 42| 18| 53 | 64 | M20
180M | 120.5| 121 180| 20 | 218|14.5|672| 160| 70 | M32X1.5 | 48 |110|100| 5 [ 36 | 14 [425[51.5|M16
(531112122(233) (ngfé(z‘:ii) 250MA | 168]250( 30 [ 300| 24 |921|224|105[ M63X1.5| 60 |140|125|7.5( 42| 18| 53 | 64 |[M20| 6313-2C3 6313-2C3
; 63
1 1395| 121] 1 18] 14. i) il 10] 1 14 |425)51.5| M1
i o) B[] L et s Jobas [ (R e SRl B ) Rt el [RCH [EE] ol [l 250MC | 168|250( 30 | 300| 24 |921|224[105| M63X1.5| 65 |140|125|75( 42| 18| 58 | 69 | M20 6315-Z 6313-Z
200L [ 1525(133) 200( 24 |241]18.5/770( 199) 80 | MSOX1.5 | 55110100 S | 42 ( 16 | 49| 59 | M20 (636;?‘22??3) (5?2':’32323) Note : 1. Tolerance of shaft end diameter D : mé6. 5. T-Box Assy with a cable grand body.

2. Tolerance of shaft center high H: +0, -0.5.

Note : 1. Tolerance of shaft end diameter D:a) .¢42~¢48 :k6:b) .¢55: m6. ]
3. Tolerance of N : j6.

2. Tolerance of shaft center high H: +0, -0.5.
4, Bearing No. In( ) is for 2P.

3. Tolerance of N : j6.
5.TEV1 only refers to the installation size ,the outline will be slightly different

(TEVIRSERERY, MEEBEER)

4. Bearing No. In( ) is for 2P.

5. T-Box Assy with a cable grand body.

6.TEV1 only refers tothe installation size ,the outline will be slightly different

(TEVIRSERERY, MEEBRFESR)

44 45



TECO

Z3¥EFH . B35(IM 2001)

4N E Outline
SNERZERTE

42 E Outline
MY RZERTE

Z3H3. B35(IM 2001)

AC
AG L o AC L 0
AS LE it g AG LE L
\ T ] I BE
)] e e 2:UB
BC - Ny
. wia - 7 i
< 3 t, il BC | ¢
3 * £F | B : Ti< i .
5 i o EF| EB
X g | BB B . - Tl
§-05 - EOL. S8 1
B - 4
SlEs i i i = £ J 3 ” g |
e v " M¥ Slx -

peg ey e prmees é £ i ¥ o
Ala AA LAl BA BA

A E i ®k Holes s ety -

AR BB i.A BA EA‘ A-DK HOLES

VVVVVVVVVV c B
EB

805 HOLES |

Jimension in mm Dimension in mm

Output (kW) FLANGE DIMENSION Output (kW) FLANGE DIMENSION
BA BA' BB BC BE
4P 6P =t ol = s 2P 4P 6P e T ] s
75| — [ — | — | 280SA | 22 | 140|500| 450|550 | 18.5| 5 |457|110|560|550(408.5|249| 1245 | 368 [110|110| 455 | 48 | 190 10| — | — | — | 315SA | 25 140 |600|550|660| 24 | 6 |508|115|615)660| 456.5 |318|144(406(180|180|580| 53 | 106
— | 75 | 45 | — | 280SB | 22 | 140|500(450|550| 185| 5 |457(110|560|550|408.5(249| 1245 | 368 |110|110| 455 48 | 190 o ) ete [ty ) o | 2ol e |on) 5o fose |5t Sbe] ol el sou {0 ol [ ks | s [ ) [iee § seo [ RS tso
90 | — | — | — | 280mA | 22 | 140|500|450| 550| 185| 5 |457|110|560|550| 408.5| 249| 1245 | 419 [115[115]| 505 | 48 | 190 SHAFT EXTENSION BEARING
— | 90 | 55 | — | 280mB | 22 |140[500{450|550| 185| 5 |457|110|560|550| 408.5|240| 1245 | 419 |115)115| 505 | 48 | 100 DB DRIVEEND Ori oot

PEOTTRATENS IOh EESEG 3158A |216|315| 35 |369| 28 | 1162 |288(180| Me3x15 | 65 [140|125|7.5| 40 | 18 | 58 | 69 |M20| 6316C3 | 6314C3
0B | [re D OPPOSITE 3158B | 216 315 35 369 | 28 1192 | 288180 M63X1.5| 80 | 170|160 5 [ 40 | 22 | 71 | 85 |M20| 6320C3 6316C3
DRIVE END
Note : 1. Tolerance of Shaft End Diameter D : m6
280SA |280( 35 | 336 |24 | 10375 |224|140( M63X1.5 | 65 |140|125(7.5| 40 | 18 | 58 | 69 [ M20 | 6314C3 | 6314C3 2. Tolerance of Key Width F : h9
280SB [280| 35 | 336 |24 | 1037.5 |224|140| M63X1.5 | 75 |140[125(7.5| 40 | 20 |67.579.5| M20 | 6318C3 | 6316C3 3. Tolerance of Shaft Center Height H : +0, -1
280MA (280( 35 | 336 |24 [ 1087.5 |224|140| M63X1.5 | 65 |140|125(7.5| 40 | 18 | 58 | 69 [ M20 | 6314C3 | 6314C3 4. Tolerance of N : js6
280MB |280| 35 | 336 |24 | 1087.5 [224|140| M63X1.5 | 75 [140|125| 7.5| 40 | 20 |67.5|79.5| M20 | 6318C3 | 6316C3 5.T-Box Assy with two cable grand bodys.
Note : 1.Tolerance of Shaft End Diameter D : m6 6.TEV1 only refers to the installation size ,the outline will be slightly different
2. Tolerance of Key Width F: h9 (TEVI (RS ERER, HMHLSREES)
3. Tolerance of Shaft Center Height H : +0, -1
4. Tolerance of N :j6
5. T-Box Assy with a cable grand body.
6.TEV1 only refers to the installation size ,the outline will be slightly different
(TEVI RS HFRERT, IREBEER)
46 47



TECO

Z3¥EFH . B35(IM 2001)

42 E Outline
MY RZERTE

4N E Outline
SNERZERTE

Z3H3. B35(IM 2001)

AC L o AC L B
AG LE LL AG LE LL
AS _BE_ AS T BE_
rl | 2-UB — |l /&

— BC| (DM@ ] BC| (D@ ]

w| =i ° w|O .

I|< i<

2\ EF | EB EF | EB
X oz %TZB =
- ’ L &8 ;EP____ - - =i e
, <| - E <| E
AR = ! —I- i H— =}
‘L’ _/F/Jlg v KIT‘ : A | | /. ) - — — | | 7
' LA BA BA' 4-DK HOLES ¢ A BA BA' 4-OK HOLES
- ; c B fe: B
AB ‘
8-®S HOLES < BB 8-0S HOLES/ r < BB
ol - O O )
T T
D |NDB p [\oB

Dimension in mm Dimension in mm

Output (kW) FLANGE DIMENSION Output (kW) FLANGE DIMENSION

2P 4P 6P = N P S 4P LE

132 - | — | - | 315MA | 25 | 140 | 600|550 | 660| 24 | 6 | 508|115 630|660| 481.5 318 | 144 | 457 | 240 | 240 640 53 106 ;gg e | o | = | 315LA | 25 | 140 | 6001 550 | 660 | 24 6 |508|130]|630]660| 4815 318 | 144 | 508 | 230 230 | 740 | 53 106
— | 132] 90 | —- | 315MB | 25 | 170 | 600 | 550 | 660 | 24 6 | 508]| 115|630 | 660 481.5 318|144 | 457 240 | 240 | 640 83 106
SHAFT EXTENSION BEARING = ;gg ::;g -~ | 315LB | 25 | 170 | 600|550 |660| 24 | 6 |508(130(630(660| 4815 |318| 144 |508|230|230| 740 | 53 106

OPPOSITE
DRIVE END

SHAFT EXTENSION BEARING

B | REB:H REE| EGH |HiE

G GA DB DRIVE END

OPPOSITE

315MA [216(315| 45 |384| 28 | 1246 |288(180| Meax15 | 65 [140|125| 7.5 | 40 | 18 | 58 | 69 [M20| e316C3 6314C3 EB EF EG F G ©A DRIVEEND one END
il L e W it ) I G ) Bl WA [l IR ) IRl A0 B e S 6316C3 315LA |216|315| 45 |[384| 28 1346 | 288|180 | M63X1.5 | 65 | 140| 125| 7.5| 40 | 18 | 58 | 69 |M20| 6316C3 6314C3
Note: 1. Tolerance of Shaft End Diameter D : m6 3158 |216|315| 45 |384| 28 | 1376 288|180 Me3x1.5 | 80 [170|160| 5 | 40 | 22 | 71 | 85 [M20| e320c3 | e316C3
2. Tolerance of Key Width F:h9 Note : 1. Tolerance of Shaft End Diameter D : m6
3. Tolerance of Shaft Center Height H : +0, -1 2. Tolerance of Key Width F: h9
4. Tolerance of N :js6 3. Tolerance of Shaft Center Height H: +0, -1
5.T-Box Assy with two cable grand bodys. 4. Tolerance of N :js6
6.TEV1 only refers to the installation size ,the outline will be slightly different 5.T-Box Assy with two cable grand bodys.
(TEVI REZRERYT, SMESBEER) 6.TEV1 only refers to the installation size ,the outline will be slightly different
(TEVI RS ERERT, IMELBEES)
48 49



TECO

Z3¥EFH . B35(IM 2001)

4N E Outline
SNERZERTE

QOutline

Z3H3. B35(IM 2001)

AC i; 0 [0]
AG LL
AS LE BE
S !
Q xk:/m
7 T X\ 3 §|"r m—"- D TN %
i . 1 F :L_}:i_:— %
= %
8 N é
BG ;
& = I — i H 7.
\ — T — . . /
L ‘/g/ l_,_LJ__ T 17 ) / 7 - > %
A —/f_ BA_'_ , B BA_'_ 6~®K HOLES BA_F 6~®K HOLES
- c 3
~3S H BB

Dimension in mm Dimension in mm

Output (kW) FLANGE DIMENSION Output (kW) FLANGE DIMENSION

FRAME
SIZE

FRAME

A AA AB AC AD AG AS SIZE

A AA AB AC AD AG AS BA. BA' BB BC BE

2P 4P &P EAY | EE® (M I NP S T 2P 4P 6P LA LE | M | N Pl S i

140|740 680(800| 24 | 6 (610|150 | 750|800 ( 573 | 408 ( 184 310 310| 910 | 43 310|310 910 | 43

— [ 315|250 —- | 355LB | 30 | 170 740 | 680 | 800 [ 24

6 | 610|150 750 | 800 | 573 [ 408 | 184

630 310 (310 910 | 43 | 130

SHAFT EXTENSION BEARING

OPPOSITE

ESl LEBY RERN FEGH E G GA DRIVE END

DB DRIVE END

;gg — | 355MB | 30 | 170|740 |680|800| 24 | 6 |610|150| 750|800 | 573 | 408 | 184 560 310 310| 910 | 43 | 130
SHAFT EXTENSION BEARING
EF EG F G GA DB DRIVEEND S:IZESEILED
355MA | 254 | 355 45 469 ( 28 1687 [ 372|230 M72X2 | 75 [140|125| 7.5 [ 40 | 20 | 67.5 [ 79.5 [M20| 6317C3 6317C3
355MB | 254 |355| 45 |469| 28 | 1717 |372|230| M72X2 [ 95 [170)|160| 5 | 48 | 25 | 86 | 100 |M24| 6322C3 6322C3
Note : 1. Tolerance of Shaft End Diameter D : mé
2. Tolerance of Key Width F : h9
3. Tolerance of Shaft Center Height H: +0, -1
4, Tolerance of N : js6
5.TEV1 only refers tothe installation size ,the outline will be slightly different
(TEVIRSZERERT, MELBEER)
50

355LA | 254355 45 469 | 28 1687 372(230| M72X2 (75 |140|125( 75| 40 | 20 | 675 | 79.5 [M20| 6317C3 6317C3
355LB | 254(355| 45 469 | 28 1717 372|230 M72X2 | 95 |170(160| 5 | 48 [ 25 | 86 100 [M24| 6322C3 6322C3
Note : 1. Tolerance of Shaft End Diameter D : m6

2. Tolerance of Key Width F: h9

3. Tolerance of Shaft Center Height H: +0, -1

4. Tolerance of N: js6

5.TEV1 only refers to the installation size ,the outline will be slightly different

(TEVI RS ERER, IMEESHAEZER)

51




4N E Outline
SNERZERTE

Z3H3. B35(IM 2001)

LN 17 1/, |
1 1 ol

T
’%
fE

Dimension in mm

Output (kW) FLANGE DIMENSION

FRAME

2P 4P o R Al NEEY DME | INE BN S

A AA AB AC AD AG AS B B BA BA' BB BC BE

6 |610| 150|750 810| 633| 408] 184| 710{ 900] 390| 390( 1100

SHAFT EXTENSION BEARING

OPPOSITE
P’ E||EB|EF EG | E | G GA DB BRIVEEND DRIVE END

355CA | 254|355 45 529| 28 1765 | 372|230 M72X2 | 75|140|125| 7.5 40 | 20 |67.5|79.5| M20| 6317C3 6317C3

355CB |254]|355| 45 529( 28 | 1795 ([372(230| M72X2 | 95 |170(160| 5 | 48 | 25 | 86 | 100| M24| 6322C3 6322C3

Note : 1. Tolerance of Shaft End Diameter D : m6
2. Tolerance of Key Width F : h9
3. Tolerance of Shaft Center Height H: +0, -1
4. Tolerance of N: js6

5.T-Box Assy with two cable grand bodies.

6.TEV1 only refers tothe installation size ,the outline will be slightly different

(TEVI R &2 RER, IMESBEER)

52

4N E Outline
SMERZRERRTHE

o AC

TECO

ZEFX: VI(IM 3011)

FIG.2

Dimension in mm

Qutput (kW) FLANGE DIMENSION
P 4P 6P - : M N P S T
0.7510.55) — | — 1 gom | 1 | 12| 40 | 165|130 200| 12 | 35| 177 | 152 | 110| 55 115 [ 1035 202
11 075/ 0.55] —
15|11 |o7s| — | o0s 12 | 50 [ 165|130 200| 12 [ 35| 197 | 162 | 110| 55 125 | 1255| 344
FrEEETEE e e e 125 | 1305| 354

EXTENSION BEARING

OPPOSITE
DRIVE END

DRIVE END

80M 110 40 | M20X1.5| 19| 40 | 32 | 4 16| 6 |[155[21.5| M6 | 6204ZZ 620322

908 110 40 | M20X15 | 24 | 50 | 40 | 5 19| 8 | 20 | 27 | M8 6205ZZ 620427

0L 110 40 [ M20X15 | 24 | 50 | 40| 5 | 19| 8 | 20 [ 27 | M8 | 6205ZZ 620427

Note : 1. Tolerance of shaft end diameter D: j6.
2. Tolerance of N : j6.
3. T-Box Assy with a cable grand body.

4. TEV1 only refers to the installation size ,the outline will be slightly different

(TEVI RS ERER, IMEESBEER)

33



42 Outline AMEE Outline T E co

. ik o
MR ZERHE e MM S SR

%RT@ ZEFRX: VI(IM 3011)

W}

L

Dimension in mm

Output (kW) Output (kW) . FLANGE DIMENSION
P 4P 6P 2P 4P 6P  — ; tE|lm 8| P s
11
322115 =] 0oL | 4 | 16| 60|215| 180|250 14.5| 4 | 219 | 1785 | 127 |635| 138 |1355| 391 | 120 50 15 | 11|75 - | feoM | | 5] 110|300]250)350[185] S | 350|234 166 | 83 | 192] 213 608 160) €0
|| || e | s 185 15 | 11| — | 1e0L 15 | 110 300| 250 | 350|185 5 | 350 | 234| 166 | 83 | 192 235| 652 160| 60
4| 4|22~ 112m | 3 | 15| 60| 215|180 250 145 | 4 | 235 | 191 | 127 |635| 1505 145 | 4125 120| 50 . . 15 | etellazellzsel zsalzesl & [ 251 [2eell es |lesllerelaral el teol 7o
2l B B 16 | 80 | 265|230| 300| 14.5| 4 | 273 | 2085 | 127 |635| 168 | 154 | 456 | 120] 50 — |22 15| =] 18 | & | 15| 110| 300| 250| 350|185 5 | 354 | 266| 166 | 83 | 218 |260.5| 710| 160 70
75| —| —| - ’ 30 | gy | 188) | oy 17 | 110] 350 300 | 400 | 18.5| 5 | 400 [3045| 215 |1075| 241 |2855| 770 199| 80
Laz | * 1 oo ™| <= [ | 7] )R] 0 PR 40 )
=TS A | 13am 16 | 80 | 265|230 | 300| 145 | 4 | 273 | 2085 | 127 |635| 168 | 173 | 494 | 120 50 SHAFT EXTENSION BEARING
OPPOSITE
e G EB EF EG F G GA DB DRWVEEND oo "7\
OPPOSITE 160M | M32x1.5 | 42 | 110 100| 5 | 36 | 12 | 37 | 45 |M16| 6309zZ 630722
DB DRIVE END DRIVE END
160L | M32x15 | 42 | 110| 100| 5 | 36 | 12 | 37 | 45 |m16| 63092z 630722
100 | m25x15| 28| 60| 50| 5 | 22| 8 | 24 | 31 | m10| 62062z 620527
180M | M32x15 | 48 | 110 100| 5 | 36 | 14 |425|51.5|m16
112M [ m25x15 [ 28 [ 60 | 50| 5 [ 22| 8 | 24 | 31 [ m10| 63062z 630522 (62;11%3) (621,%23)
180L | M32x15 | 48 | 110 100| 5 | 36 | 14 [425|51.5|m16
1328 | M2sx15 | 38 | 80| 70| 5 | 28| 10| 33 | 41 | Mm12| 63082z 630622
130 | m2sx15 | 38| 8o | 70| 5 | 28| 10| 33| 41 | m12| 630822 630622 200L [ MSOX1.5 55 | 110100 5 f 42 ) 16 49 | 59 | M20 (eggfgzz?) (621;22;23’

Note : 1. Tolerance of shaft end diameter D : ¢ 28 : j6, ¢ 38:k6 .

. Note : 1. Tolerance of shaft end diameter D:a) .¢42~¢48 : k6 :b) .¢55: m6.
2. Tolerance of N : j6. 3. T-Box Assy with a cable grand body.

4. TEV1 only refers to the installation size ,the outline will be slightly different 2. Toleratigs of N'¥j6.

(TEVI B2 RERT, IBLBEER) 3. Bearing No. In( ) is for 2P. 4. T-Box Assy with a cable grand body.

5. TEV1 only refers to the installation size ,the outline will be slightly different

(TEVI XS E2RER, IMNEEHREER)
54 55



4N E Outline
SNERZERTE

ZEFRX: VI(IM 3011)

Dimension in mm

Output (kW) FLANGE DIMENSION

4P 6P - 3 EAY IEE) | M N P S
— | 37| - | — | 2258C 20 [ 140| 400| 350 450| 185 | 5 | 450|330.5( 215 107.5 267 292 816
45 — | — | — | 225MA 7 | 20 [ 110| 400| 350 | 450 185 | 5 | 450]330.5( 215 107.5 267 | 3045 811
— | 45| 30 | — [ 225MC 20 [ 140| 400 | 350 450 | 185 | 5 |450]330.5( 215 107.5 267 | 3045 841
55 = | -~ | — | 250MA 22 | 140| 500 450 | 550 185 | 5 | 550|372.5| 249 1245 300| 3425 921
— | 86| 37 | — | 250MC ° 22 [ 140| 500 450 | 550 | 185 | 5 [ 550(372.5| 249 124.5 300| 3425 921

SHAFT EXTENSION BEARING

OPPOSITE
DRIVE END

EB| NEEN BECH E G DB DRIVE END

TECO

ZEFRX: VI(IM 3011)

42 E Outline
MY RZERTE

O

' ] i ) AD

HE
! | —HE 1 g.45 HoOLES

Dimension in mm

Output (kW)

2258C | 199| 90 [ M50X1.5 | 60 | 140 125| 75| 42 | 18 | 53 | 64 |M20

(63122ZC3) | (62122ZC3)
225MA | 199| 90 | M50X1.5 | 55 [ 110| 100| 5 | 42 | 16 | 49 | 59 [m20| © Phoees
225MC | 199| 90 | Ms0x1.5 | 60 | 140| 125| 7.5 | 42 | 18 | 53 | 64 |M20

250MA | 224 | 105 | me3x1.5 | 60 | 140| 125| 75| 42 | 18 | 53 | 64 |M20| 6313zc3 | 6313zC3
250MC | 224 | 105| m63x1.5 | 65 | 140 125]| 7.5 | 42 | 18| 58 | 69 |M20| 63152 6313-Z

Note : 1. Tolerance of shaft end diameter D : m6.
2. Tolerance of N : j6.

3. Bearing No. In( ) is for 2P.

4. T-Box Assy with a cable grand body.

5. TEV1 only refers to the installation size ,the outline will be slightly different

(TEVIRSERERY, MEEBFESR)

56

75 - - - 280SA 22 | 140 | 500 | 450 | 550 [ 185 5 | 709 |408.5| 249 | 1245| 335 | 238 1037.5
= 75 | 45 == 280SB 22 | 140 | 500 | 450 | 550 | 185 5 | 709 |408.5| 249 | 1245 | 335 | 238 1037.5
90 | — | — | = 280MA 22 [ 140 | 500 | 450 | 550 | 18.5| &5 | 709 [408.5| 249 | 124.5| 335 | 238 1087.5
-~ | 90 | 55 | —- 280MB 22 [ 140 | 500 | 450 | 550 | 185 | 5 | 709 | 408.5| 249 | 124.5| 335 | 238 1087.5
SHAFT EXTENSION BEARING
e oRIVE END OPPOSITE

280SA 224 | 140 [ M63X1.5 65 | 140 | 125 | 7.5 | 40 18 | 58 | 69 [ M20 6314C3 6314C3

280SB 224 | 140 [ M63X1.5 75 | 140 | 125 | 7.5 | 40 | 20 [ 67.5| 79.5 | M20 6318C3 6316C3

280MA | 224 [ 140 [ M63X15 | 65 | 140 | 125 | 75 | 40 | 18 | 58 | 69 [ M20 6314C3 6314C3

280MB 224 | 140 | MB3X1.5 | 75 | 140 (125 | 7.5 | 40 | 20 | 67.5| 79.5| M20 6318C3 6316C3
Note : 1. Tolerance of Shaft End Diameter D : m6

2. Tolerance of Key Width F : h9

3. Tolerance of N: j6

4. T-Box Assy with a cable grand body.

5. TEV1 only refers to the installation size ,the outline will be slightly different

(TEVI NESERER, IMELBEER)

57



4N E Outline
SNERZERTE

ZEFRX: VI(IM 3011)

iz, Z)

O
AD
HE
8-®S HOLES
e &
Wod N\
(@SN
Q2 { -
2 2 L F)
i’ /,
\\S-\ - :
i o
%

Dimension in mm

Output (kW) FLANGE DIMENSION

EAG [ L M | B

715 [456.5| 318

6 | 715 |456.5| 318 | 144 [ 106 | 359 | 269 |1192| 288 | 180

TECO

ZEFRX: VI(IM 3011)

42 E Outline
MY RZERTE

8]
foi
m

80§ HOLES
) R

T

AC
AG

5
ny
J!c
E) =
[
B
AS

bR
-+ 5
LE
o
X
u_n“'s-'] fﬂﬁ W g @
Ml
i |
s gl
BN
op

Dimension in mm

Output (kW) FLANGE DIMENSION

769 |481.5| 318

6 | 769 |481.5| 318 | 144

SHAFT EXTENSION BEARING

SHAFT EXTENSION BEARING
OPPOSITE
E EB EF EG G GA DB DRIVEEND BOIVE END
315SA M63X1.5 65 140 ( 125 | 7.5 | 40 18 58 69 | M20 6316C3 7314B
315SB M63X1.5 80 170 | 160 5 40 2 | M 85 | M20 6320C3 6316C3
Note : 1. Tolerance of Shaft End Diameter D : m6

OPPOSITE
EB EF EG GA DB DRIVE END DRIVE END
315MA M63X1.5 65 140 | 125 75 | 40 | 18 | 58 | 69 | M20 | 6316C3 7314B
315MB M63X1.5 80 170 | 160 5 40 [ 22 71 85 | M20 | 6320C3 6316C3
Note : 1. Tolerance of Shaft End Diameter D : m6

2. Tolerance of Key Width F : h9
3. Tolerance of N:js6
4. T-Box Assy with two cable grand bodys.

5. TEV1 only refers to the installation size ,the outline will be slightly different

(TEVI (RBERERST, IMNEESBREER)

58

2. Tolerance of Key Width F : h9

3. Tolerance of N:js6

4.T-Box Assy with two cable grand bodys.

5. TEV1 only refers to the installation size ,the outline will be slightly different

(TEVI R&ZFR2ERT, IMESHBEER)

59



|17

23

SME R %25

Outline
R~TE

i %)

| A
- .
2-UB
T\ 1
XD
2| 8 ¥
1/
2 ey
I
, : .
| <
i - |

LE

Output (kW)

EF| EB
1

EF

140 | 600 | 550 | 660

FLANGE DIMENSION

ZEFRX: VI(IM 3011)

AC

AG

AS

8-0S HOLES

Dimension in mm

170 | 600 | 550 | 660

269

1376

288

180

SHAFT EXTENSION BEARING
OPPOSITE
HRIVEEND DRIVE END
315LA M63X1.5 65 140 | 125 75 | 40 18 58 69 | M20 6316C3 7314B
315LB M63X1.5 80 170 | 160 5 40 220|871 85 | M20 6320C3 6316C3
Note : 1. Tolerance of Shaft End Diameter D : m6

2. Tolerance of Key Width F: h9

3. Tolerance of N :js6

4. T-Box Assy with two cable grand bodys.

5. TEV1 only refers to the installation size ,the outline will be slightly different

(TEVI REERERT, INEESBEER)

60

M2

23

SME R =%

QOutline

R~FE

TECO

ZEFRX: VI(IM 3011)

Dimension in mm

Output (kW) FLANGE DIMENSION
LA LE M N B
250 [ - —- - | 355MA | 30 | 140 | 740 | 680 | 800 | 24 6 | 896 | 573 | 408 | 184 | 130 | 469 | 297 | 1687 | 372 | 230
-- | 250 ;gg -~ | 355MB | 30 [ 170 | 740 | 680 | 800 | 24 6 896 | 573 | 408 | 184 130 | 469 | 297 | 1717 | 372 | 230
SHAFT EXTENSION BEARING
OPPOSITE
DRIVEEND o\ cc\n
355MA M72X2 75 140 | 125 | 7.5 | 40 20 | 675|795 M20| 6317C3 7317B
355MB M72X2 95 170 | 160 | 5 | 48 | 25 | 86 | 100 | M24 | 8322C3 73228
Note : 1. Tolerance of Shaft End Diameter D : m6
2. Tolerance of Key Width F : h9
3. Tolerance of N: js6
4.T-Box Assy with two cable grand bodys.
5. TEV1 only refers to the installation size ,the outline will be slightly different
(TEVI REZFRZERT, IMELSBEEER)
61



 MEMO

4MEZE Outline

5 b e
9]\}%)52%35}%}{!#@ ZEHERX: V1M 3011)

5

AC
AG
1
T
'

'

Dimension in mm

QOutput (kW)
AC AD AG AS BE HE HH

315 | - --- --- | 355LA | 30 | 140 | 740 | 680 | 800 | 24 6 | 896 | 573 | 408 | 184 130 | 469 | 297 1687 | 372 | 230
-~ [ 315 250 | --- [ 355LB | 30 | 170 | 740 | 680 | 800 | 24 6 | 896 | 573 | 408 | 184 130 | 469 | 297 [1717| 372 | 230
SHAFT EXTENSION BEARING
OPPOSITE
G GA DB DRIVE END DRIVE END
355LA M72X2 75 140 | 125 75 | 40 | 20 | 675|795 | M20 | 6317C3 7317B
355LB M72X2 95 170 | 160 | 5 48 | 25 | 86 | 100 [ M24 | 6322C3 73228

Note : 1. Tolerance of Shaft End Diameter D : m6
2. Tolerance of Key Width F : h9

3. Tolerance of N: js6

4.T-Box Assy with two cable grand bodys.

5. TEV1 only refers to the installation size ,the outline will be slightly different

(TEVI RSELRERT, MEBEER)

C-flangeit =R~ %

HLES
FRAME SIZE
80 100 80 120 M6
90 115 95 140 M8
100 130 110 160 M8
112 130 110 160 M8
132 165 130 200 M10
160 215 180 250 M12

62



